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GENRAL AWARENESS QUESTIONS

Question - Sardar Sarovar Dam is built on which river?
Answer - Narmada river, Gujarat

Question - Which of the following waterfalls is in
Jharkhand ?
Answer - Hundru Falls on Subarnarekha River

Question - India’s first Firepark is in which state?
Answer - Odisha

Question - Who among the following is awarded the
best umpire by ICC in 20207?
Answer - Nitin Menon

Question - President rule imposed in Kerala according to
which article?
Answer - Article 356
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Question - FICCI was established in which year?
Answer - 1927

Question - Leprosy is caused by which bacteria?
Answer - Mycobacterium leprae

Question - What is the tenure of UPSC chairman?
Answer - 6 years

Question - Who discovered the cell?
Answer - Robert Hooke

Question - Who secured the fourth position in the Dhaka
Marathon 20217

Answer - Jigmet Dolma from India secured fourth
position in the Dhaka Marathon 2021

Question - Who was Mughal empire during the 1857
revolt?
Answer - Bahadur Shah Il
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Question - Which lIT is first in Ranking in 20207
Answer - lIT Madras

Question - ELISA test is
Answer - A test that detects and measures antibodies in
blood.

Question - Article 61 is related to?
Answer - Procedure for impeachment of the President

Question - What is the full form of URL?
Answer - Uniform Resource Locator (URL)

Question - World Water day?
Answer - 22 March

Question - Which river is known as the sorrow of Bihar?
Answer - Kosi
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Question - What is the total literacy of India according to
census 20117

Answer - 74.04 per cent, 82.14 for males and 65.46 for
females

QUANTITATIVE APTITUDE QUESTIONS

Question - The price of a chair is Rs. 500. It is sold at two
successive discounts of 10% each. Find the selling price
of the chair.

Answer -?7?? (Answer Not Available)

Question - If 264 is divided in the ratio of 31:13 then find
the smaller part.
Answer - /8

Question - MP of an article is 1280 rupees. If a
Shopkeeper earns 12% profit after giving a 30%
discount. Find the ratio of CP to MP?

Answer - ???7? (Answer Not Available)

Question - Raghav spends 80% of his income. If his

income increases by 12% and expenditure increases by
17.5%, find the % change in savings.
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Question - If A = 5+2V6, then find the value of AA.
Answer -1

Question - PQR is an isosceles triangle in which PQ = QR
=25 cm. If PSis a median to QR and is 7 cm. Find the
length of QR?

Answer - ???7? (Answer Not Available)

Question - Two tangents from a point P are drawn at
points A and B of a circle. If O is the centre of circle and
£APB =50°, find £OAB?

Answer - 130°

Question - A truck covers a distance of 480 km in a
certain time. If we reduce the speed by 8 km/hr, the
time increases by 2 hours. Find 50% of the original
speed?

Answer - ???7? (Answer Not Available)
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Question - Sec A = 65/63, then find the value of 8(cosec
A - cot A)?
Answer - 1

ENGLISH LANGUAGE QUESTIONS

Question - Find the Antonym of — Bias
Answer - Unbiased

Question - Find the Synonym of — Random
Answer - Haphazard

Question - Find the Synonym of — Brittle
Answer - Weak

Question - Find the one word for — A person who studies
polls and elections
Answer - Psephologist

Question - Select the appropriate meaning of idiom —
Caught red handed

Answer - In the act of doing something wrong |

was caught red-handed
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Question - Meaning of idiom — For All Ears

Answer - The expression, “I'm all ears” is used when you
want to show somebody that you're listening and ready
for them to tell you something.

Question - Antonym of word — Bolster
Answer - Undermine
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